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Winter Addition

Solve the following word problems.

John purchased 2.5 pounds of salt to melt the ice
on his driveway. Later, he bought an additional 1.2
pounds. How much salt did John purchase in total?

A store sold 6.4 feet of garland on Monday and 7.2
feet on Wednesday. What was the total length of
the garland sold?

Tom has 4.5 feet of Christmas lights. He buys
another 2.3 feet. How many feet of Christmas lights
does Tom have now?

Emily bought 3.7 yards of ribbon for her winter
wreaths. Later, she purchased 2.4 yards more. How
many yards of ribbon does Emily have in total?

A snowman was 1.2 feet tall. After a snowfall, it
grew by 0.7 feet. How tall is the snowman now?

A ski resort received 3.5 inches of snow in the
morning. It received another 1.6 inches in the
afternoon. How much snow did the ski resort
receive in total?

A store sold 4.2 pounds of candy canes in the

morning. In the afternoon, they sold another 2.7

pounds. How many pounds of candy canes did the
store sell in total?
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